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1. For isothermal expansion of an ideal gas: 

a) 0=∆U  

b) dwdqrev −=  

c) 
1

2ln
V

V
nRdS =  

d) All of the above 

2. If  T and  V  are variables, then S∆ of a system is 

given by: 

a) 
1212 /ln/ln VVRTTCS V +=∆  

b) 1221 /ln/ln VVRTTCS V +=∆  

c) 1212 /ln/ln VVRTTCS p +=∆  

d) 2121 /ln/ln VVRTTCS V +=∆  

3. Match the following: 
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a) 1-D,   2-A,    3-B,    4-C 

b) 1-D,    2-C,   3-A,    4-B 

c) 
1-C, 2-B, 3-D, 4-A

 

d) 1-C,     2-D,   3-B,   4-A 

4. The expression for the mixture of idea gas is: 

a) CpRRTCS Pn
′+−−Σ=∆ lnlnln( χ

 

b) CpRRTCS P
′+−−=∆ lnlnln( χ

 

c) CpRRTCS Vn
′+−−Σ=∆ lnlnln( χ

 

d) )lnln( χRTCS Pn −Σ=∆  

5. One mole of 2O is mixed with nine moles of nitrogen 

at 298 K, then: 

(I) Molar entropy of mixing 

(II) Entropy of mixing of one mole 

(III) Molar entropy of mixing of 9 moles of oxygen is 

mixed with one mole of nitrogen, is: 

a) Same in all cases 

b) Different in all cases 

c) Different in (I) and same in (II) and (III) 

d) None of the above 

6. Work function and Gibbs free energy relations are: 

I. wA =∆−  

II. wA =∆  

III. VpwG ∆−=∆−  

IV. VpwG ∆+=∆  

a) II and III 

b) I and III 

c) II and IV 

d) None 

7. The following relations are correct for a closed system 

with special conditions: 

a) SdTdG −=  
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c) 12 /ln PPRTG =∆  

d) All of the above 

8. Which of the following is partial molar property? 

a) 
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d) All of the above 

9. Partial molar property of work function is related as: 

a) mimimi TSUA ,,, −=  

b) mimimi TSHA ,,, −=  

c) mimimi TSGA ,,, −=  

d) None 

10. Which of the following are intensive properties? 

a) 
miS ,

 

b) miV ,  

c) 
miH ,

 

d) All of the above 

11. If 
0G∆ is zero for a reaction, then: 
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a) 0=∆H  

b) 0=∆S  

c) 0=K (equilibrium constant) 

d) 1=K  

12. Chemical potential is defined as: 

a) 
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d) Both a) and c) 

13.  Which of the following is Gibbs-Duhem Equation: 

a) 0=Σ iidnµ  

b) 0=Σ iidn µ  

c) 02211 =+ µµ dndn  

d) All of the above 

14.  Chemical potential of an ideal gas in a mixture is 

always: 

a) 
*

ii µµ <  

b) 
*

ii µµ >  

c) 
*

ii µµ =  

d) 
*

ii µµ ≤  

15.  If idealreal µµ =  

a) 1=γ  

b) 0=γ  

c) 1>γ  

d) None of the above 

16. If the observed molar volumes of ideal and real gases 

are equal,and also if 1=f atm. atmPideal 4=
,then pressure in real gas is: 

a) 2atm. 

b) 4 atm. 

c) 1 atm. 

d) None 

17. Gibbs-Duhem-Margules equation can be written as: 

a) 
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d) 
None

 

18.  Konovalov`s 1st and 2nd law are: 

a) 1111 ; yy =< χχ  

b) 1111 ; yy => χχ  

c) 1111 ; yy >= χχ  

d) 
None

 

19. The departure or deviation (α  )  from ideal behavior 

is defined by: 

a) V
P

RT −  

b) V
P

RT +  

c) V
P

RT −−
 

d) 
None

 

20. Which of the following is/are correct? 

a) γ=Pf /  
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d) 
All of the above

 

 


